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percentages to fractions in the simplest form) (Convert fractions to percentages)
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(Convert percentages to decimals)
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(A) Peeia -
Sally, Ken and Bill joined a race. They started from school and

bypassed the monument. The end point is the park. The distance is

exactly 1 km. The picture showed the positions of Sally, Ken and
Bill after 5 minutes.

If they all kept the same speed, 5 minutes later:
5. Bill ran _ {00 - % of the distance.

56. Sally didn’t complete 0
57. Ken ran Qéﬁ,r

% of the distance.

% of the distance.
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